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EE301 HW#35
3 Phase AC Power

[image: image4.jpg]


1. Given: EAB=208(15° V.  
Req’d:  

a. Real, reactive, and apparent per-phase power.

b. Multiply per-phase values by 3x to get total values.

c. Use these ST, PT, QT, and compare the results to part b:
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Soln: 

Sф = ________

Pф = ________


Qф = ________

ST =3 S ф= ________

PT =3 P ф= ________

QT =3 Q ф= ________

ST= ________


PT = ________

QT = ________
2. Given: EAB = 208(15°.
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Req’d:  


a. Real, reactive, and apparent per-phase power.

b. Real, reactive, and apparent total power.


c. Determine the power factor FP
Soln: 
Sф = ________

Pф = ________


Qф = ________

ST= ________


PT = ________

QT = ________
FP = ________
3.  Given: Line Voltage is 450 V at 60 Hz.  The motor below needs to be power factor corrected to a power factor of unity using the capacitor bank.
The capacitor bank will be connected using a Wye arrangement.









Req’d:  a. Determine the electrical real power input to the motor.



b. Determine the Reactive Power of a single phase of the motor (Qф)



c. Determine the Reactive power of a single phase of the capacitor bank



d. Find the value of the capacitance needed for each phase of the capacitor bank.

Soln:
PT (MOTOR)= ______________
Qф (MOTOR)= ______________
Qф (CAPACITOR) = ______________

C =______________
� EMBED Equation.DSMT4  ���
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